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- BAEE I R (83,350, . ) E MR BHEAE (3~54 ARTD3r AFIDOLNGELPGOE A ffitg) D ZEEE100M [ZDF,
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<LNGF % A fifidk > <LPGF 8 Affitk >
58,850 (F3/".) X 09576 + 67,690 (/%)  x 0.0466 = 59,509.114 (A/".)
= 59,510 (A/".) XI0MREZEMDIEREA

(2) TR BHTAE L4 T[RRI O 28 (RS LB OFE

< EAEFHRFMEE > < REEHEE >
83,350 (H/%.) - 59,510 (F4/*.) = 23,840 (/%)
= 23,800 (A/*.) X100ARBETET

) REMEHMAREDHEE

< RIS B EE > <HEBE>
23,800 (/%) X 0.081 (F/m) - 100 (/") X (1 4+ 008) = 2082024 (FH/m)
= 2083 (A/m) NN ESRUTEY LT

(4) Rt ERE R (F2) DHEE (—RAREIBHIR HERBOESE)

<EHEHEHE> <fEBH S Bz EE>
165.96 (F1/m) — 2083 (A/m) = 14513 (A/m)
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<ERI0FEI12ADHER S B> <TERI0FEITADHER S B>
145.13 (A/m) - 143.65 (/m) = +1.48 (A/m)
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<EXpE> <fERP LI > <AREAE>
1,560.00 (M/A) + 14513 (A/m) X 31(m/8) = 6,059.03 (MA/A8)
= 6,059 (M/A8) XIMERBZEYIET
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